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NEW QUESTION 1
Your customer’s business outcome is to drive employee efficiencies. Which key metrics measure this outcome?

. increase in new subscribers or increase in end users

. number of incidents reported or number of compliance issues
. reduction in headcount or operational support costs

. customer and employee feedback

. number of activities completed or increase in direct time
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Answer: E

NEW QUESTION 2
Which outcome is the best that a Customer Success Manager can achieve for a customer?

A. adoption of all the licenses and features the customer purchased leading to expansion to improve the customer’s business
B. full adoption of all the technologies the customer purchased

C. removing barriers so the customer achieves the fastest time to value possible from the solution theypurchased

D. ensuring the customers deployment teams and end users are trained and ready to adopt the technology

Answer: C

NEW QUESTION 3
You are a Customer Success Manager and have just been assigned a strategic new account. Which course of action is the best to help you prepare for the first
customer introduction meeting?

A. Engage with the account team to understand the expansion opportunities

B. Perform a deep analysis of all the sales orders to the past 24 months

C. Build an understanding of your customer’s business and market trends and priorities

D. Speak the internal contacts to understand the customer sentiment and outstanding escalations

Answer: C

NEW QUESTION 4
Which definition of a use case is true?

A. comparison of the marketing description of what a product does to the customer’s experience

B. list of actions or event steps that a customer uses

C. list of actions or event steps that typically defines the interactions between a role and a system to achieve a goal
D. list of instructions that customer uses for their software

Answer: C

NEW QUESTION 5
Which statement describes the difference between customer success and customer sales?

A. Customer sales is about selling solutions to meet business need

B. Customer success is about getting customers to utilize those solutions to get the value they intended.

C. Customer sales is about getting customers to utilize their solutions to get the value they intended.Customer success is about making sure the customer deploys
the solution within an effective timeline.

D. Customer sales is about getting customers to utilize their solutions to get the value they intended.Customer success is about expanding the customer’s
portfolio.

E. Customer sales is about selling solutions to meet business need

F. Customer success is about finding product opportunities for sales as the customer utilizes their current solution.

Answer: A

NEW QUESTION 6
Throughout the customer lifecycle, opportunities can occur that lead to customers becoming advocates for the Customer Success Manager’'s company. Which two
opportunities can lead to advocacy? (Choose two.)

A. moments of success when the customer acknowledges progress
B. successful contract renewal

C. green health scores over intermittent time periods

D. continuing results based on unexpected value

E. results that are not measurable

Answer: AB

NEW QUESTION 7

A customer has finalized all of their solution planning and will be deploying it over the next two weeks. As the customer Success Manager, what is the next logical
step to focus on for the customer’s lifecycle journey?

A. Quarterly Success Review build and delivery

B. service introduction to confirm that they know how to submit service issues at the go live
C. initial user group identified and their use cases confirmed
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D. customer’s stakeholders and their business outcomes
E. additional features that will align with the business outcomes

Answer: AD

NEW QUESTION 8
The customer wants to reduce their exposure to security events. Which business outcome is critical to the company’s success?

A. risk management
B. market growth

C. sustainability

D. cost efficiency

Answer: A

NEW QUESTION 9
The customer plans to relocate to a new building in the existing area to reduce cost. The company wants to retain talent through this transition. Which two
business outcomes are critical to the company’s success? (Choose two.)

A. risk management

B. employee satisfaction
C. cost efficiency

D. credibility

E. sustainability

Answer: BC

NEW QUESTION 10
What is the term for the gap between the features and functions that customers purchase and the features and functions that they use?

A. capability gap

B. financial gap

C. consumption gap
D. organizational gap

Answer: C

NEW QUESTION 10
A customer is coming up for renewal in 180 days for three solutions. One of the solutions has not been fully enabled. The other two solutions are in regular use in
production. How should the Customer Success Manager address the one solution that has not been fully enabled?

A. Contact the services team and request that they reach out to the customer to address the solution

B. Make the renewals manager aware that the one solution is not fully implemented but the other two are fine

C. Investigate why the customer has not enabled the solution and work with the sales and renewals teams to address the issue
D. No action is needed because the customer will probably renew and you can address the issue after the renewal

Answer: B

NEW QUESTION 12
Which two outcomes are expansion opportunities within customer success? (Choose two.)

A. expansion of solution features
B. renewal of solution subscription
C. purchase of a new solution

D. deployment of solution

E. expansion of solution services

Answer: AD

NEW QUESTION 13

A customer’s renewal is due in the next 6 months. Analytical data has been provided to the Customer Success Manager that shows customer usage over the last
12 months. Which two additional pieces of information are important prior to a meeting with the customer to discuss their adoption journey prior to the renewal?
(Choose two.)

A. customer annual report and quarterly business reviews

B. sales account plan

C. detailed contract inventory

D. QUESTION NO:s to validate the interpreted analytical data
E. support tickets reports and diagnostic information

Answer: AD

NEW QUESTION 16
Which of these is included in a success plan?
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A. confidential customer information
B. customer business outcomes

C. customer HR processes

D. services cost

Answer: BD

NEW QUESTION 19

Your client, the Director of IT Policy and Governance of Easternbank, has just informed you that the CIO is dissatisfied with the current level of utilization of the
collaboration solution that was deployed 3 months ago. The client has requested a meeting to improve the situation. Which reports are critical to the success of the

meeting?

A. number of users registered, bandwidth utilization, number of training sessions user joined

B. number of users registered, service logs, number of users

C. number of users registered, number of meetings user initiated, number of meetings user joined
D. network utilization, number of meetings user initiated, number of users

Answer: C

NEW QUESTION 23

Which item should the Customer Success Manager focus on to enable the adoption of a software solution?
A. KPI that will be improved by the new product solution

B. current existing products that are being displaced by the solution

C. current configuration guide of the product solution

D. product use case that will achieve the desired outcome

Answer: D

NEW QUESTION 25
Refer to the exhibit.

License Activation Trending
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Which initial action does a Customer Success Manager take?

A. Run analysis on all the license types used by the customer on all platforms
B. Share the report with the customer point of contact for license types B and D and determine causes
C. Provide trending information on license types B and D and share with all stakeholders

D. Inform the Sales Account Manager to position a new version of licenses types B and D with additional features

Answer: A

NEW QUESTION 30
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